
Limity pomocí Taylorova polynomu

1 Spočtěte následující limity:
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2 Zkouškové příklady:
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3 Těžší příklady:

(a) lim
x→0

2ex − esinx − earcsinx

x5

(b) lim
x→∞

((
x3 − x2 +

x

2

)
e

1
x −
√
x6 + 1

)

(c) lim
x→0

2 sin(sinx)− sin(2x) 3
√
1 + x2

x5

(d) lim
x→0

sin(cos(sinx)− 1) + 1
2
x2

x2 sin2 x

(e) lim
x→0

(cosx)sinx − (cosx)x

x2(x− sinx)

z(f) lim
x→0

sin(tg x)− tg(sinx)

arcsin(arctg x)− arctg(arcsin x)

z(g) lim
x→0

113 · ln(1 + sin(x2)) + 20 · x2 ·
√
1 + x2 − 120 · x · sin(sin(x))− 13 · ln(1 + x2)

x8

[3] (a) − 1

12
; (b)

1

6
; (c)

3

5
; (d)

5

24
; (e)

1

2
; (f) 1; (g) −157

84
;


